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QUESTION 1

What is the purpose of the ArrayCommPath setting in a CLARIiON storage system?
A. It enables LUNZ if LUNO is not assigned to a host.

B. It indicates the failover mode for the selected initiator - 0, 1, 2, 3, or 4.

C. It sets the parameters for the entire storage system on a per-host basis.

D. It is the CLARIION module that supports ALUA functions.

Correct Answer: A

QUESTION 2

The Access Logix ACL entries consist of the LUN UID and which other two elements?
A. Host HBA WWN and CLARIiiON SP port WWN

B. Host HBA WWPN and CLARIiiON SP port WWPN

C. Host SID and CLARIiON serial number

D. Host HBA WWN and CLARIiON serial number

Correct Answer: A

QUESTION 3

A new customer has expressed interest in upgrading their FCIP infrastructure. Currently their regional office supports
over 180 users. They would like to obtain storage media encryption capability and eventually add RecoverPoint.

Which solution would you recommend?

A. MDS-9506 with the multi-services switching module
B. MDS-9506 with the storage services module

C. MDS-9509 with the storage services node

D. MDS-9509 with an MDS 48-port FC module

Correct Answer: A

QUESTION 4

A new switch is received and needs to be connected into an existing SAN. What port type is used for the ISL trunking
feature?
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A. E_port

B. F_port
C. FL_port
D. G_port

Correct Answer: A

QUESTION 5

Which two scenarios can be implemented in iISCSI and FC SAN?

a.

Single server connected to both a CLARIiiION FC and a CLARIiON iSCSI storage system.
b.

NIC and iSCSI HBA connections mixed in the same server.

C.

Servers with iISCSI HBAs and servers with NICs connected to the same iSCSI storage system.
d.

Servers with HBAs and servers with iISCSI HBAs connected to the same storage system.
A.

Cand D

Aand C

Aand B
D.
B and D

Correct Answer: A
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